Efficiency vs hit

0.0
£
$.018
>
B.016F
s
®.014
=
9.012
0.01F
0.008F
0.006F

16 15 20 25 30 35 40

TP hits
MKFIT_T1_retrain

[—=— DOM_mKFIL_TT7

—e— DQM_mKFit_TT_NEWdefault_specPLess1
—— DQM_mkFit_TT_NEWdefault_specPLess2
—— DQM_mkFit_TT_NEWdefault_specPLess3

I Efficienc] —— DQM_mkFit_TT_NEWdefault_specPLess4

¢ 0.0%
[
2.009
%.008
Iy
9.007
©
9.006
[}
0.005,
0.004
0.003
0.002
0.001

0l

Y

Ratio

0.5

16~ 17 14 16 18 20 22 24
TP layers

Efficiency vs pixel layer

0O 1 2 3 4 5 6 7 8
TP pixel layers

Efficiency vs 3D layer

» 0.0}
9]
®.009
R.008
4
.007
(5]
©.006]
L
$.005
0.004]

6 8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


